Le radici

Calcolail valore delle seguenti radici.

Esempio: /16 = 4 perché 42 = 16

=
5
g

N
5
Ne

w
a
S
=~

:b
s‘
[\
ot

(S}
w

\)

3

o
Q‘
—_
[\]
ot

$

o
5
g

A
w
s‘
[t
D

10.

3

11

2

12.

'S
co
—_

13.

8

14. 114

15. V2034

Jedooc.com

V25

V81

—_

V121

V256

V8

V512

V12

[\)

V32

[\S]

V46

(@)

V54

=

V21

—_

V343

V828

Qo

/4096

V1800

[8; 6; 5]

[7; 3; 9]

[12; 2; 11]

[15; 10; 16]

[3; 4; 2]

[5; 105 §]

[2/2 ~ 2,82; 2¢/5 ~ 4,47; 24/3 ~ 3, 46]

[2V/6 ~ 4,89; ~ 5,47; 4/2 ~ 5, 65]

[6; ~ 2,45; ~ 6, 78]

[6v/2 ~ 8,48; 13; 36 ~ 7,34]

[3v/2 =~ 4,24; 2; ~ 4, 58]

[3; 35~ 6,71; 7]

[4v/3; 24/33 ~ 11,49; 61/23 ~ 28,77]

[~ 10,67; 26; 16]

[48; 17; 30v/2 ~ 42,42
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